22 7 5

H19 H21
RDB
L=1,175.6m
(cm) (m/s) (m3/s)
1 1 1
2. 2. 2.
1/2 0.859 1/2 1636 (1/2 1.923
1/10 1188 |1/10 1640 |1/10 3.400
1/550 110

H21 Xls




22 7 5
H19
RDB
N=1
(cm) (m/s) (m3/s)
1 1 1
2. 2. 2.
1/2 0341 1/2 1704 1/2 0.473
1/10 0.510 |1/10 1962 |1/10 0.835
1/200 110

H21

Xls




1(

22 7 5
H19
RDB
N=3
(cm) (m/s) (m3/s)
1 1 1
2. 2. 2.
1/2 0341 1/2 1704 1/2 0.473
1/10 0.510 |1/10 1962 |1/10 0.835
1/200 110

H21

Xls




22 7 5

H20
RDB
L=14.7m
(cm) (m/s) (m3/s)
1 1 1
2. 2. 2.
172 0859 |1/2 1636 |1/2 1.923
1/10 1188 |1/10 1640 |1/10 3.400
1/10 110
H21 Xls




H21 Xls




H21 Xls




2(

H21

Xls




H21 Xls




H17 1

(10 )
HI7HI8 o/

7 )

H20 2
H20 @ 10

H17 5 40
H18 2 15
H20 11 418

H21

Xls




H21 Xls




H20
10

10

246
125

11

H18

12

18

24

H17
10

77

65

11

H20

10

246

H18

12

H17

7

300
250
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pH

COD

mg/|

12

10

H18

H17

Xls

H21



H21 Xls




